Assembly Contents — Replacement Parts List

Phone/Text (208) 881-0909
Email: info@mitntopsnowbike.com

Model Year 2023-24 | Drive Assembly

ASSEMBLY CONTENTS & REPLACEMENT PARTS LIST:

Line
t#

O 00 N O b W N |

W W W W ww N NNNMNNMNMNNONNMNRPRR R R R PR R P PR
R W NP O VWX N OOUu P WN P O WV OWLKNO OV AMWN P O

Part Number

4012-1213-09
4055-0000-09
4021-1313-01
4025-1213-01
4032-1212-01
4011-1213-16
4011-2212-08
4011-1214-11
4031-1213-01
4031-1214-01
4031-1214-01
4021-2213-04
4015-1313-08
4013-2213-05
4013-2512-08
4013-2512-06
4400-2100-23
4423-0300-22
4425-0300-22
4421-1200-22
4421-1000-22
4423-0500-22
4421-1100-22
4421-0100-22
4423-0200-22
4423-0100-22
4421-0500-22
4426-0500-22
4421-0700-22
4423-0600-22
4421-0400-22
4400-1000-22
4400-0601-22
4400-0501-22
4424-0100-22

Description

Fastener, Socket head bolt / M8 x 1.25 x 20mm

Fastener, Snap Ring / for 2” id bore x .068” thick x 2.122" od
Fastener, Plain nut / 8 x 1.25 x 6.5mm tall

Fastener, Nylock nut / 8 x 1.25 x 8mm tall

Fastener, Lock washer / M6 lock washer

Fastener, Hex bolt / 8 x 1.25 x 45mm

Fastener, Hex bolt / 6 x 1.0 x 16mm

Fastener, Hex bolt / 10 x 1.5 x 30mm

Fastener, Flat washer / 8.4 id x 15 od x 1.6 thick

Fastener, Flat washer / 10.5 id x 20 od x 2.0 thick

Fastener, Flat washer / 10.5 id x 20 od x 2.0 thick

Fastener, Flanged Plain nut / 8 x 1.25 x 8mm tall

Fastener, Carriage bolt / 8 x 1.25 x 16mm

Fastener, Button head bolt / 8 x 1.25 x 12mm

Fastener, Button head bolt / 6 x 1.0 x 16mm

Fastener, Button head bolt /6 x 1.0 x 12mm

Drive, Wheel, 5t x 3.5p / Fits: 1-1/4” axle / 5.375 od x 1.87 wide.
Drive, Tunnel-Side Chain Adjustment Plate

Drive, J-Shaft, Adjuster Spacer / .310 wide / 8x1.25 x 35mm stud.

Drive, J-Shaft Outer Spacer

Drive, J-Shaft Inner Spacer

Drive, J-Shaft Hub Half

Drive, J-Shaft Center Spacer

Drive, Jack-Shaft

Drive, Frame-Side Chain Adjustment Plate
Drive, Dual Bearing Housing

Drive, Drive Sprocket Hub

Drive, Brake Disk Cover

Drive, Brake Disc Hub

Drive, Brake Caliper Mounting Bracket
Drive, Axle Washer

Drive, Axle Bearing / NTN Formula bearing
Drive, 58 Link Chain / EK 520 0-Ring
Drive, 48 Link Chain / EK 520 0-Ring
Drive, 4.50" Brake Disk

QTY in
Assembly

R R P OO W R, P PR NP R RPNP RPDNERPDNOGOODRE DD OON BN OO R ONRERDNNDN

Price per
each
$2.00
$3.00
$1.00
$1.00
$1.00
$1.00
$1.00
$2.00
$1.00
$0.50
$0.50
$1.00
$2.00
$2.00
$1.00
$1.00
$150.00
$165.00
$15.00
$15.00
$15.00
$75.00
$15.00
$45.00
$165.00
$75.00
$175.00
$100.00
$100.00
$45.00
$15.00
$15.00
$75.00
$62.00
$25.00


mailto:info@mtntopsnowbike.com

36
37
38
39
40
41

4424-0900-22
4424-0500-22
4424-0300-22
4424-0200-22
4421-0300-22
5100-0000-22

Drive, 22 tooth, Drive-Axle, Sprocket
Drive, 18 tooth, J-Shaft Sprocket

Drive, 16 tooth, J-Shaft Sprocket

Drive, 15 tooth, J-Shaft Sprocket

Drive, 1-1/4" Hex Drive-Axle

Brake, Hayes, Dominion A2 Brake System

T T S O B SO TN

$65.00
$65.00
$65.00
$65.00
$125.00
$300.00



